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COURSE : Dry
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1 Z2 8 i =JOE48Kone7 AJLAWMH#EE SPM GK5 PIT: 11
1= 2= 241083 3= 234765 4= *2'33.417 5= 234049 6=
7 A FHEATI-%GSTAIN LK 774 YFIT GK5 PIT: 1H
1= 2= *2'34043 3= 234258 4= 234572 5= 305577 6=
9 # H I ERn— Sportsfl 88 E 7 ) FPGKSE GK5
1= 3= 234685 5= 235491 6= 239163 7= 234362 8=
2= 2'38.273 4= *2'34.257
11 BT ®MEHondaCars® #8 KYB FIT GK5 PIT: 2[H
1= 3= P257.392 4= 526346 5= 234251 6= 234044 7=
2= *2'33.424
14 LR HHMIAZVIH B BATS09H— X FIT GK5 PIT: 1[H
1= 3= *2'34.128 4= 2'34.206 5= 2'42.238 6= 2'34.563 7=
2= 2'48.160
18 ®#H# H #®&HAIMC KE—-—AF SSR ED GK5 PIT:1E
1= 3= *2'34534 4= 235575 5= 244663 6= 235154 7=
2= 2'34.576
22 F B ¥RINOKI M2 BS FIT GK5
1= 3= 235399 5= 235484 6= *2'35.151 7= 235584 8=
2= 240426 4= 2'42.583
25 H#HE #®# XBRIDE& 74907 & K— oneFIT GK5 PIT: 1
1= 2= 2'33.538 3= *2'33.037 4= 2'35.176 5= P2'47.996
30 EH # #HHondaCars® W # x ¥ + ) FFIT GK5 PIT: 2[H
1= 2= 446899 3= 244950 4= *2'33.309 5= P2'49.285
36 Bk FH MFCMGegFA3I0—-—X7yv7 % 8 E GK5
1= 3= 2'37.071 4= *2'36.396 5= 2'37.225 6= 2'46.065 7=
2= 2'44.492
39 X & BEEYDONRY—H—-YIyMWMLI?Y L GK5
1= 3= 238539 4= %2'37.232 5= 238130 6= 238062 7=
2= 2'42.144
55 ® X ® tBOLDIDIAMFYY¥YMYT3RFIT GK5
1= 3= 237710 4= 247951 5= 233716 6= 241302 7=
2= *2'32.833
62 #E A N MGIMOTION WM FIT GK5 PIT: 1H
1= 3= 2'35.471 4= *2'35.265 5= P3'02.711 6= 4'33.651 7=

2'45.241
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P3'22.641
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2'35.429

2'39.093

2'38.486

2'33.466

2'35.789
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67 M A BS YAMATO FIT GK5 PIT:1[H

1= 2= 9'45.765 3= 2'59.385 4= *2'58.618 5=

70 EOR Y78 —-—UNUTECH 8 BE GPO X B R GK5 PIT: 10
1= 2= 2'51.342 3= *2'32.969 4= 2'33.225 5=

80 B M Xt versus KYR DUNLOP GK5 PIT:-1H

1= 2= 2'40.479 3= 235513 4= 2'34.671 5=
81 M EH #® ZKYRFTYPJES4AThmbt FJ FFIT GK5 PIT: 1
1= 2= *2'33.842 3= 2'34078 4= P3'37.721
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P3'07.045

P2'41.638

*2'34.524 6=

P3'06.784



